/10a
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20 21

TDN TDN
cm kg/10a kg/10a kg/10a
9/16  10/30 98 290 1,754 * 1,032 * 58.8 * 1,033 *
9/ 5 10/11 93 310 1,474 830 61.3 903
1. 6 19
2. TDN
3. TDN TDN=-5.45+0.89x (0CC+0a)+0.45x OCW
4. *: 5%
5. ( )
kg/10a
6 7 8 9 10 11 12 4 5
(TDN )
o 2,958
822 382 (1,752)
O
1,754 o 3,197
1,443 (1,798)
12?3t/10a 12?3t/10a 1 7kgN/10a
:10kgN/10a :10kgN/10a ( )
19 21
. O o
18 19
TDN TDN
/10a cm m? kg/10a kg/10a  kg/10a kg/10a
18.2 m?( 21.1 94.1 243 1,480 641 839 57.1 843
11.2 m2( 11.5 92.6 233 1,493 640 854 57.6 860
18 6 14 19 5 31 19 6 21
21 18 21



